
 

 

 

 

 

 

 

 

 

Financial Algebra 

Summer Assignment  

 

 

 

 

The following packet contains topics and definitions that you will be required to know in order to 

succeed in Financial Algebra this year.  You are advised to be familiar with each of the concepts and to 

complete the included problems by the beginning of the school year.  All of these topics were 

discussed in Geometry or Algebra II and will be used frequently throughout the year.   
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Properties of Exponents: 

 1.  Whole number exponents: 𝑥𝑛 = 𝑥 ∙ 𝑥 ∙ 𝑥 ∙ … ∙ 𝑥 (n factors of x) 

 2.  Zero exponents: 𝑥0 = 1, 𝑥 ≠ 0 

 3.  Negative Exponents:  𝑥−𝑛 =
1

𝑥𝑛 

 4.  Radicals (principal nth root):  √𝑥
𝑛

= 𝑎 → 𝑥 = 𝑎𝑛 

 5.  Rational exponents:  𝑥
1

𝑛⁄ = √𝑥
𝑛

 

 6.  Rational exponents:  𝑥
𝑚

𝑛⁄ = √𝑥𝑚𝑛
 

Operations with Exponents: 

 1.  Multiplying like bases: 𝑥𝑛𝑥𝑚 = 𝑥𝑚+𝑛  

 2.  Dividing like bases:  
𝑥𝑚

𝑥𝑛 = 𝑥𝑚−𝑛 

 3.  Removing parentheses: (𝑥𝑦)𝑛 = 𝑥𝑛𝑦𝑛  (
𝑥

𝑦
)

𝑛
=

𝑥𝑛

𝑦𝑛 (𝑥𝑛)𝑚 = 𝑥𝑛𝑚 

Simplify each of the following expressions: 

5)  𝟐𝒂𝟐𝒃−𝟒 ∙ 𝟒𝒂−𝟖𝒃𝟔   6)  
𝟖𝒂𝟐𝒃−𝟐

𝟒𝒂𝟒𝒄−𝟓    7)  (
𝟑𝒙𝟒

𝒚−𝟐)
𝟑

 

 

 

 

Special Products and Factorization Techniques 

 Quadratic Formula: 

  𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 → 𝑥 =
−𝑏±√𝑏2−4𝑎𝑐

2𝑎
 

Solve the following equations: 

8)  𝟑𝒙𝟐 − 𝟒𝒙 − 𝟐 = 𝟎      9)  −𝟓𝒙𝟐 + 𝟔𝒙 + 𝟒 = 𝟎 
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 Special Products: 

  𝑥2 − 𝑎2 = (𝑥 − 𝑎)(𝑥 + 𝑎) 

  𝑥3 − 𝑎3 = (𝑥 − 𝑎)(𝑥2 + 𝑎𝑥 + 𝑎2) 

  𝑥3 + 𝑎3 = (𝑥 + 𝑎)(𝑥2 − 𝑎𝑥 + 𝑎2) 

Factor each of the following: 

10)  𝟒𝒙𝟐 − 𝟏𝟒𝟒    11)  𝟖𝒙𝟑 − 𝟐𝟕   12)  𝟔𝟒𝒙𝟑 + 𝟏𝟐𝟓𝒚𝟑 

 

 

13)  𝒙𝟐 − 𝟏𝟑𝒙 + 𝟒𝟐   14)  𝟖𝒙𝟐 − 𝟏𝟎𝒙 − 𝟑  15)  𝟒𝒙𝟑 + 𝟖𝒙𝟐 − 𝟓𝒙 − 𝟏𝟎 

 

 

 

 



5 
 

 

Lines 

 Slope:    
𝑦2−𝑦1

𝑥2−𝑥1
 

Slope Intercept Form:   y = mx + b 

 Standard Form:   ax + by = c 

 Point-Slope Form:  y - y1 = m(x ʹ x1) 

Use the two points to write the equation of the line in all three forms: 

20)  (2, -5) and (7, 12) 

 

 

 

 

 

 

 

 

Transformations 

 Vertical Translations:  𝑦 = 𝑓(𝑥) ± 𝑘 

 Horizontal Translations:  𝑦 = 𝑓(𝑥 ± ℎ) 

 Y-axis flip:   𝑦 = 𝑓(−𝑥) 

 X-axis flip:   𝑦 = −𝑓(𝑥) 

Describe each of the following transformations: 

21)  𝒇(𝒙) = −𝒙𝟐 + 𝟒   22)  𝒇(𝒙) = |−𝒙| − 𝟒  23)  𝒇(𝒙) = √𝒙 − 𝟑 
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Functions 

 Domain: a set of all possible values for the independent variable 

 Range:  a set of all possible values for the dependent variable 

Find the domain and range of the following functions: 

24)  𝒚 = √𝒙 + 𝟏   25)  𝒚 =
𝟑𝒙−𝟒

𝟒𝒙+𝟏𝟎
   26)  𝒚 = {

𝟏 − 𝒙, 𝒙 < 1

√𝒙 − 𝟏, 𝒙 ≥ 𝟏
 

 

 

 Even and Odd Functions: 

  𝐼𝑓 𝑓(−𝑥) = −𝑓(𝑥), 𝑡ℎ𝑒𝑛 𝑡ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑖𝑠 𝑜𝑑𝑑 

  𝐼𝑓 𝑓(−𝑥) = 𝑓(𝑥), 𝑡ℎ𝑒𝑛 𝑡ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑖𝑠 𝑒𝑣𝑒𝑛 

Determine if the function is even or odd: 

27)  𝒚 = 𝟑𝒙𝟐    28)  𝒚 = 𝟐𝒙𝟐 + 𝟒𝒙   29)  𝒚 = 𝟒𝒙𝟑 

 

 

 End Behavior: 

  -If the degree of f is even and the lead term coefficient is positive, then the left and right  

ends of the function both approach positive infinity. 

-If the degree of f is even and the lead term coefficient is negative, then the left and 

right ends of the function both approach negative infinity. 

-If the degree of f is odd and the lead term coefficient is positive, then the left end 

approaches negative infinity and the right end approaches positive infinity. 

-If the degree of f is odd and the lead term coefficient is negative, then the left end 

approaches positive infinity and the right end approaches negative infinity. 

 

Describe the end behavior for each of the following functions: 

30)  𝒇(𝒙) = −𝟑𝒙𝟐 + 𝟒𝒙 − 𝟐  31)  𝒇(𝒙) = 𝟐𝒙𝟑 − 𝟑𝒙𝟐 + 𝟔𝒙 − 𝟏 32)  𝒇(𝒙) = 𝟓𝒙𝟓 − 𝟔 
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Functions 

Evaluate each of the following for the function 𝒇(𝒙) = 𝒙𝟐 − 𝟒𝒙 + 𝟕: 

33)  𝒇(𝟒) =    34)  𝒇(𝒚𝟑) =    35)  𝒇(𝒙 + 𝒚) = 

 

 

 

Evaluate the following compositions of functions: 

Let 𝒇(𝒙) = 𝟐𝒙 − 𝟑 and 𝒈(𝒙) = 𝒙𝟐 + 𝟏 

36)  𝒇(𝒙) ∙ 𝒈(𝒙)   37)  𝒇(𝒈(𝒙))    38)  𝒈(𝒇(𝒙)) 

 

 

 

 

 

Inverse Functions 

 In order to calculate an inverse of a function algebraically, you must switch all of the x and y  

variables and solve the new equation for y.  The inverse only exists if the resulting equation is a  

function. 

 

Find the inverse (if it exists) of each of the following functions: 

39)  𝒇(𝒙) = 𝟑𝒙 + 𝟐   40)  𝒇(𝒙) = 𝟐𝒙𝟐 − 𝟒   41)  𝒇(𝒙) = √𝒙 + 𝟏 
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Logarithms 

Natural Logarithmic Function: 

 𝑙𝑛𝑥 = 𝑏 𝑖𝑓 𝑎𝑛𝑑 𝑜𝑛𝑙𝑦 𝑖𝑓 𝑒𝑏 = 𝑥 

Inverse Properties of Logarithms: 

  𝑙𝑛𝑒𝑥 = 𝑥   𝑒𝑙𝑛𝑥 = 𝑥 

Solve each of the following equations: 

42)  𝟏𝟎 + 𝒆𝟎.𝟏𝒙 = 𝟏𝟒     43)  𝟑 + 𝟐𝒍𝒏𝒙 = 𝟕 

 

 

 

Graph the following equations without a calculator: 

44)  𝒇(𝒙) = 𝒍𝒏(𝒙 − 𝟐) + 𝟑  45)  𝒇(𝒙) = −𝟐 + 𝒆𝒙+𝟏  46)  𝒇(𝒙) = {
𝒍𝒏𝒙 + 𝟏, 𝒙 < 1

𝒆𝒙−𝟏, 𝒙 ≥ 𝟏
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Properties of Logarithms 

 Product Property:   𝑙𝑜𝑔𝑏𝑎 + 𝑙𝑜𝑔𝑏𝑐 = 𝑙𝑜𝑔𝑏(𝑎𝑐) 

 Quotient Property: 𝑙𝑜𝑔𝑏𝑎 − 𝑙𝑜𝑔𝑏𝑐 = 𝑙𝑜𝑔𝑏 (
𝑎

𝑐
) 

 Power Property: 𝑙𝑜𝑔𝑏𝑎𝑐 = 𝑐 ∙ 𝑙𝑜𝑔𝑏𝑎 

Condense each of the following to a single logarithm: 

47) 𝟒𝒍𝒏𝒙 + 𝟔𝒍𝒏𝒚 − 𝒍𝒏𝒛    48) 
𝟏

𝟑
[𝟐𝒍𝒏(𝒙 + 𝟑) + 𝒍𝒏𝒙 − 𝒍𝒏(𝒙𝟐 − 𝟏)] 

 

 


